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Tổng số: 40 câu. Phần trắc nghiệm khách quan 32 câu. Phần tự luận (viết) 8 câu

	
Chi tiết kiểm tra
	

Nội dung kiểm tra
	Trọng số
	Tổng số câu

	
	
	Nhận 
biết
	Hiểu
	Vận
dụng
	

	Ngữ âm
	- Phát âm
- Trọng âm
	2
2
	
	
	4

	





Ngữ pháp- Từ vựng



	- Thời của động từ
- Sử dụng danh từ, đại từ, tính từ, giới từ, … chính xác trong văn cảnh cụ thể 
	
       1
	1
2
	
	4

	
	- Cấu tạo từ
- Sử dụng từ loại trong câu
- Sử dụng collocation
	1
1
	
1
1
	

	
4

	
	- Sử dụng idiom
	1
	
	
	       1

	
	- Chữa lỗi sai trong câu
	2
	1
	
	3

	
	- Nhận biết và sử dụng từ đồng nghĩa và trái nghĩa 
	2
	2
	
	4

	
	Sử dụng được từ/ ngữ để ứng đối một cách thích hợp trong giao tiếp cơ bản như chào hỏi, khen, chê, đề nghị, …
	
	2
	
	2

	


Kĩ năng đọc
	Có khả năng chọn được từ/ngữ phù hợp (nghĩa ngữ pháp, nghĩa từ vựng) để hoàn thành một văn bản
	
2
	
3
	

	
5

	
	- Có khả năng lấy thông tin đại ý
- Có khả năng lấy thông tin cụ thể
- Có khả năng xác định tham chiếu thông tin qua văn cảnh
- Có khả năng đoán được nghĩa từ mới, đồng nghĩa/ trái nghĩa thông qua văn cảnh
	
1
1
 
	1

1
1
	




	5

	



Kỹ năng viết
	1. Câu  mong ước
2. Câu điều kiện
3. Câu bị động
4. Cụm tính từ giới từ
5. Câu trực tiếp gián tiếp
6. Used to
7. Mệnh đề quan hệ 
      8.  cấu trúc khác
	
	
	


8
	


8

	Tổng số
	
	16
	16
	8
	40
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I. MULTIPLE CHOICE (8pts)
Mark the letter to indicate the word whose underlined part differs from the others.
1. A. school                 B. cheer	C. chemist	D. Christmas
2. A. minute                B. husband                     C. funny	       D. pumpkin
Mark the letter to indicate the word whose underlined part differs from the others in the position of primary stress.
3. A. romantic             B. alternate                      C. service                      D. holiday
4. A. disaster               B. committee                   C. cartoon                     D. cinema
Mark the letter to indicate the word whose underlined part that needs correction.
5. I saw An last weekend, but I didn’t see her since then.
A. saw		B. last	          C. but			D. didn’t see
6. Despite the weather was awful,  we enjoyed   our   picnic
A. Despite	           B. was	                      C. enjoyed		D. our
7. My brother said that he was leaving for the capital tomorrow.
A. that			B. was 		C. for			D. tomorrow
Mark the letter to indicate the correct answer.
8.  Lan suggested…………..chess this afternoon.
A. play			B. plays		C. to play		D. playing
9. The man………you mother is talking to is my English teacher.
A. which			B. where		C. whom		D. who
10. If you eat a lot of fruit, you …………..health problems.
A. have	C. had	B. may have	D. will never have
11. If it rains on Sunday, we shall have to…………...the football match for a week.
A. bring on           B. put off	C. take off	            D. put away

12. They have visited to Ha Long Bay since 2003 ,  ………….?  
A. have they		B. didn’t they		  C. haven’t they	   D. did they
13. He is from …………… European country, but I don’t know which one.
A. a 			B. the 			C. an			D. Ø
14.  If you eat too quickly you may not ……………….attention to whether your hunger is satisfied.
A. keep 		B. show 		C. pay 			D. take
15. If she used English more often, her English ……………………so rusty.
A. will                     B. will be                    C. would be                    D. wouldn’t be
16. The floods have killed hundreds and made thousands of people …………………..
A. homely 		B. Homeless		 C. homeland 		D. homesick
Mark the letter A, B, C or D on your answer sheet to indicate the most suitable response to complete each of the following exchanges
17: “Congratulations to you on winning the first prize”- “……………”
A. You’re welcome     B. Thanks a lot       C. It’s my pleasure              D. It doesn’t matter
18: “Good morning, could I speak to Mr. David, please?”; “____”
A. He’s in a meeting. Can I take a message?		B. Probably by Monday next week.
C. I’ll have to ask the person you want to ring first.	D. Certainly. Would two o’clock be OK
Mark the letter A, B, C or D on your answer sheet to indicate the word(s) CLOSEST in meaning to the underlined word(s) in each of the following questions
Question 19: Now we can mix all the ingredients well.

A. add                     B. combine                         C. cover                       D. spread
Question 20: The scenery is spectacular when viewed from the mountain top. It feels like your breath is being taken away.
A. significant 	B. gradual		          C. breathtaking             D. considerable
VII. Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) OPPOSITE in meaning to the underlined word(s) in each of the following questions
21. The government is not prepared to tolerate this situation any longer.
A. look down on      B. put up with            C. take away from   D. give on to
22. Travel insurance is sometimes mistaken for temporary health insurance, but the two are actually different.
A. transitory		B. passing		C. mutable		D. permanent
Read the passage and choose the best answer.
Electricity is the most common form of energy used today. (23) _________ the modern world, (24) _________ is instantly available at the touch of a switch. Electricity has numerous uses. The most common use of electricity is to provide artificial lighting. In factories, electricity is used to (25) _________ the electric motor of machines. In offices, electricity is used to light up (26) _________ workplace. It is also used to operate air-conditioners, computers (27) _________ many other machines. 
	23. A. In
	B. Round
	C. During
	D. From

	24. A. Gas
	B. water
	C. electricity
	D. coal

	25. A. Driven
	B. drive
	C. driving
	D. drove

	26. A. A
	B. any
	C. the
	D. many

	27. A. But
	B. so
	C. because
	D. and




Read the passage and choose the best answer.
The government published a report yesterday saying that we need to eat more healthily – more fruits and vegetables, less fat and sugar. So that means fewer burgers, chips and fried food as well as cutting down on sweet things. We went into central London yesterday at lunchtime and asked people what they thought about it. “It’s got nothing to do with the government what I eat,” say Paul Keel, a building worker, as he eats beefburger and chips washed down with strawberry milkshake. “I think I have a healthy diet. You see, I don’t normally eat a beefburger for lunch. Normally I just have chips.” Any fish? “I like cod. But I’ve only ever had it once.” Tim Kennor, a librarian, welcomes the government advice. But he also has his own rules. “I think,” he explains, eating his fried chicken and chips, “it’s important to eat a variety of food.” We then asked Dorothy Matthews, aged 74. “I don’t think it’s the government’s business to tell us what to eat.” We went into Simpson’s Restaurant and asked the manager if people changed what they were eating. “I don’t think people believed all these reports anymore. What they say is good for you in June, they say is bad in July. People have stopped talking notice. We serve what we’re always served. Almost all of it is fattening.”
28.	What is the writer trying to explain in the text?
	A. what people think	B. his own opinion
	C. the government report	D. the popularity of certain foods
29.	What can the reader learn from the text?
	A. what the government is going to do	B. which meals are the healthiest
	C. whether the advice will be followed	D. what kind of people like beefburgers
30.	What is Paul Klee’s opinion?
	A. The government advice is wrong.	B. Fish isn’t good for you.
	C. He doesn’t need to change his habits.	D. He eats too many beefburgers.

31.	What does the manager think of the report?	
	A. People don’t understand the advice given.
	B. People think they will soon be given different advice.
	C. People don’t bother to read these reports.
	D. People are more concerned about losing weight.
32.	Which of the following is part of the government report?
	A. The population of this country should eat less.
	B. Bad health in this country is caused by people eating the wrong kinds of food.
	C. People should take the time to prepare their own food at home instead of eating in restaurants.
	D. Working people should make sure they have a good hot meal in the middle of the day.
II. WRITING (2pts)

Finish the second sentences so that it has a similar meaning to the first one.
33. “Can you speak English?” said Peter. 
 Peter asked me …………………………………………………………………………………….
34. If it doesn’t rain, we will go to the cinema this evening.
 Unless ………………………………………………………………………………………………
35. They will make you pay a fine if they catch you smoking. 
 You ……………………………………………………………………………….
36. Can you use this computer?		
 You can……………………………………………………………………………?
Combine two sentences into a new one using the given words in brackets.
37. Have you finished the book? I lent you the book two weeks ago. (which)
……………………………………………………………………………………………….
38. It’s a pity. we do not have a computer. ( wish) 
 I ……………………………………………………………………………………….
39. Bob didn’t speak Dutch. However, He decided to settle in Amsterdam. (In spite of)
……………………………………………………………………………………………………
40. The house was too badly damaged in the fire, so it couldn’t be repaired. (too )
…………………………………………………………………………………………………..

[bookmark: _GoBack]
__________THE END__________





































ĐỀ 01
ANSWER KEYS:

	1. B
	2. A
	3. A
	4. D
	5. D
	6.A
	7. D
	8. D

	9. C
	10. B
	11. B
	12. C
	13. A
	14. C
	15. D
	16. B 

	17. B
	18. A
	19. B
	20. C
	21. A
	22. D
	23. A
	24. C

	25. B
	26. C
	27. D
	28. A
	29. C
	30. C
	31. B
	32. B




33. Peter asked me if / whether I could speak English.
34. Unless it rains, we will go to the cinema this evening.
35. You will be made to pay a fine if they catch you smoking. /
      You will be fined if they catch you smoking.
36. You can use this computer, can’t you?
37. Have you finished the book which I lent you two weeks ago
38. I wish we had a computer.
39. In spite of not speaking Dutch, Bob decided to settle in Amsterdam.
      In spite of the fact that Bob didn’t speak Dutch, He decided to settle in Amsterdam
40. The house was too badly damaged in the fire to be repaired
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I. MULTIPLE CHOICE (8pts)
Mark the letter to indicate the word whose underlined part differs from the others.
1A..sightseer		B.shrine			C.hike			D.picnic
2.A. achieved		B.advanced		            C.required		D.replied
Mark the letter to indicate the word whose underlined part differs from the others in the position of primary stress.
3/ A.suggest		B.prevent			C.mistake		D.reason
4/ A.energy		B.pollution			C.pesticide		D.wonderful
Mark the letter to indicate the word whose underlined part that needs correction.
5/I was completely amazing because of what he said yesterday.
A. was 		B.amazing			C. because of		D. said
6/ Eventhough the extremely bad weather in the mountain, the climbers decided not to cancel their climb.
A.Eventhough 	B. extremely			 C.not to cancel 		D. climb.
7/ Jonh decided buying a new car in the morning, but  he changed his mind in the afternoon. 
A.buying 		B. but  			C. changed 			D.s mind
Mark the letter to indicate the correct answer.
8/ my mother…………..my brother and me to the zoo when we were small.
A.used to take          B.used to taking             C.uses to take           D.uses to taking 
9/ She asked me…………………..to another country in the region.
A. if I had been		B.I had been			C.had I been		D.if had
10/ Among their three sons, Tomy is……………………………………
A. more successful		B most successfu	C.the most successful     D. the most successfully
11/ Daisy didn’t pass the exam last year…………………she had studied very hard.
A. because			B. so		C. although		D. due to
12/Binh said they………. Part in a cleaning project the following weekend.
A/ are taking 		B.will take		C.were taking 		D.had taken
13. She should go to bed early. If she….up late tonight, she…….able to get up earlt tomorrow
A/stays/ wouldn’t be 	B. stays/ won’t be	  C.stayed/ wouldn’t be       D. stayed/ won’t be
14/ I will give her the massage as soon as she……….back tomorrow.
A. has come			B. will come		C. is becoming		D. comes
15/ The film………..by the time we……..to the cinema
A. already began/ got 		B.have already begun/ got 		
C. had already begun/ got 		D. already began/ had got 
16/I wish I……..a car. I am tired of catching the bus to work everyday.
A. had		B. had had		C. have		D. will have
Mark the letter A, B, C or D on your answer sheet to indicate the word(s) CLOSEST in meaning to the underlined word(s) in each of the following questions
17/ I didn’t think this comments were  very appropriate at that time.
A. right		B. correct			C. exact		D. suitable
18/ Meany language learners do not try to learn all the new words they come across.
a. study		B. like		C. meet		D. understand
Mark the letter A, B, C or D on your answer sheet to indicate the word(s) OPPOSITE in meaning to the underlined word(s) in each of the following questions
19. From the hotel,  there were fantastic views of the city.
A. wonderful		B. terrible		C. different		D. peaceful
20/ The ministryof Health is carrying out a health project for the poor in rural areas.
A. urban		B. mountainous		C. suburban		D. coastal
Mark the letter A, B, C or D on your answer sheet to indicate the most suitable response to complete each of the following exchanges
21/ “ Excuse me, is any body sitting here?”     “______________________”
A . Yes, I am so glad     B. Sorry ,the seat is taken.   C. Yes, Yes. You can sit here.	D. No, thanks.
22. “Oh, I’ve failed the driving test again ”	 “………………………………………”
A. Cheer up.			B. not at all		C. Good luck		D. You ‘re welcome
Read the following story and mark the letter A, B, C or D on your answer sheet to indicate the correct answer to each of the questions
If you would like to go to a beautiful, faraway place, you should choose Hawaiian Island. Located in the middle of the Pacific Ocean ,in 1959 the island(23)__________ the 50th state
of US. Of all the Hawaiian islands ,Kauai may be the best place or vacation as it is called a tropical(24)__________. With increasing tourist attraction ,its population is getting higher especially in hot seasons. Because thick green rainforests cover the island, the air makes your skin soft and smooth. There is(25)________ air pollution here and no stress. The beaches of Kauai are large part of its beauty ; they are all lovely,clean and white sand. If you want to meet colourful undersea (26)___________you may take a short course for driving.
If you need an enrlment to get training from professional drivers. They also make wide explanations(27)__________ the characteristics of the Ocean. As soon as you make a decision, reserve your place, buy your ticket and say goodbye to your stressful city!
23.A. obtained		B. became		C. turned		D. made
24. A. paradise		B heaven		C. ecstasy		D. delight
25.A. few			B.a few		C. little		D. a little
26. A. animals		B. living things	 C. fishes		D. creatures
27. A. for			B. wih		            C. into		D. about
Read the following passage and mark the letter A, B, C or D on your answer sheet to indicate the correct word that best fits each of the numbered blanks
Smog is a combination of smoke and fog. It occurs when gases burn fuel mix with fog on the ground. When heat and sunlight get together with these  gases, they form fine, dangerous paricles in the air.
Smog occurs in big cities with a lot of traffic. Particularly, in the summertime, when it is very hot, smogstays near the ground. It is dangerous to our breathing, and in smog areas, we can’t see very well.
Smog was first discovered in Great  Britain in the 19th century, during the beginning of the industrial Revolution. At that time, people use coal for heating and cooking. Factiries also used coal to produce ironand steel. Smog mised with wet ,foggy air,and turned yellow. The smog often hung over the cities for many days. I caused lung diseases and breathing problem. Thousand of people died in London every year.
Today, cities that have a large population and are located in hot, subtropical areas have the biggest smog problems- for example, Los Angeles, Mexico City and Cairo.
28. Where can smog possibly be found?
A.. At a place where it is rainy	
B.At a place where the traffic is heavy and the weather is foggy
C. At a place where the traffic is not heavy and the weather is foggy
D.At a place where it is  not rainy
29. In the third paragraph, the word combination  is closest meaning to
A.addition 		B.total 		C. mixture 		D.range
30.In the third paragraph,the word it refers to______________
A.iron 		B.smog 		C.steel 		D.smoke
31.Qhat will happen if smog stays close to the ground?
A.It will disappear in a short time 			B.It will make sky cleaner
C.It will harm our health block our sight 		D.It will cause many storms
32.What probadly caused the smog in Britain at the beginning of the Industrial Revolution?
A.There were too many cars in the country	B.The weather there was too foggy
C.People smoke a lot at that time		D.Factories and people used coal as energy
II. WRITING (2.0 points)
Complete the second sentence so that it means the same as the first, beginning with the given words
33.Doing many exercises makes me remember more news words
The more______________________________________________________
34.Although it was raining heavily,all the guests came
In spite_________________________________________________________
35.If she had been in the city,I would have invited her to the party
She________________________________________________________________
36.’’Have you decided to take an English course before going to America?”Lan said to me
Lan asked me_______________________________________________________________
37.The basketball court is near my house.It is full of players(which)
_________________________________________________________________________
38.I am going to wear a skirt tomorrow.I bought that skirt in London(that)
39.The cake was so hard.I could not eat it(such)
_______________________________________________________________________	
40.Yuri Gagarin was the first person in space in 1961.We really admire him(who)
__________________________________________________________________________



















ĐỀ 2
ANSWER KEYS:
I. MULTIPLE CHOICE (8.0 points)
	1. D
	2. B
	3. D
	4. B
	5. B
	6.A
	7. A
	8. A

	9. A
	10. C
	11. C
	12. C
	13. B
	14. D
	15. C
	16. A 

	17. D
	18. C
	19. B
	20. A
	21. B
	22. A
	23. B
	24. A

	25. C
	26. D
	27. D
	28. B
	29. C
	30. B
	31. C
	32. D



II. WRITING (2.0 points)
Complete the second sentence so that it means the same as the first, beginning with the given words
33. The more exercise I do, the more  news words I remember.
34. In spite of  raining heavily/ the heavy rain, all the guests came
35.She wasn’t in the city, so I didn’t  invite her to the party
36. Lan asked me if I had  decided to take an English course before going to America.
37.The basketball court which is full of players is near my house.
38. The skirt that I am going to wear tomorrow  was bought in London 
Tomorrow I am going to wear the skirt that I bought in London.
39. It was such a hard  cake  that I could not eat it.
40.Yuri Gagarin, who we really admire, was the first person in space in 1961. 
__________________________________________________________________________



